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The table below shows the preference ballots for an election with 16 voters and 3 candidates.
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1. Write a preference schedule.
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2. Which candidate has a plurality of the first-place winners?
C

3. Which candidate has the fewest last-place votes?
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An election is held to choose the chair of a department at a university. The candidates are
Professors Argand, Brandt, and Chavez (A, B, C for short). The following table gives the
preference schedule for the election.

N u.mb;r of Voters & . 3 9
| lstchoice A A B C
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" adchoce  C B C A

4. How many people voted in this election? 20

5. How many first-place votes are needed for a majority?

\



Suppose that the election rules are that when there is a candidate with a majority of the first-
place votes, he or she is the winner. Otherwise, all candidates with 20% or less of the first
place votes are eliminated and the ballots are recounted.
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st choice A A B C
2nd  choice B C A B
3rd choice c B C A

6. Which candidates are eliminated?

B

7. Find the preference schedule for the recount.
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8. Which candidate is the majority winner after the recount?
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9. The Fruit & Vegetable Connoisseur Society gather to decide on which fruit or vegetable
offers the most nutrients. There are 900 members who have to choose between apples
(A), bananas (B), and carrots (C). Twenty-five percent select apples over carrots and
carrots over bananas. Thirty percent select bananas the most and apples the least. The

rest like carrots the most and bananas the least. Write out the preference schedule.
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10. In the table below, candidates are listed by rank (1%, 2", etc). Rewrite the following
preference schedule in the conventional format used in the book.

Number of Voters | 101 | 87 | 92 | 73
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Ch 1: 1-10, On problem #8, there are 2250 voters.



